Practice #9 Geo  Sec 10-2 Rhombus  Thursday, March 26, 2020

Find the area of each Rhombus. Round to the nearest hundredth unless noted otherwise.

1. 2.
13
35
24
500 30
3. The perimeter is 100 and the measure 4. The coordinates of the vertices for
of one of its angles is 68° Rhombus ABCD are: 4(5.8), B(6,0)

C(-1,-4), and D(-2,4)

For 5 and 6 find the EXACT area.
5. 6.
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3. The perimeter is 100 and the measure 4. The coordinates of the vertices for
of one of its angles is 68° Rhombus ABCD are: 4(5,8), B(6,0)
C(-1,-4), and D(-2,4)
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For 5 and 6 find the EXACT area.
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